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T | A Al Lt 01 (214 /kat)
A 91,571 | 262,289 | 133,247 | 129,042 | 14,979.38
LHEH S 4,653 13,832 6,847 6,985 | 29,429.79
LHEH2.35 5,327 14,798 7,383 7,415 | 22,766.15
LiE4 S 7,424 22,589 11,295 11,294 | 28,593.67
HIAH S 5,745 16,660 8,565 8,095 | 26,031.25
H| A2 3&| 5,953 16,508 8,390 8,118 | 33,689.80
H| A4S 4,415 12,337 6,157 6,180 | 31,633.33
H| &S 3,867 10,821 5,597 5,224 | 38,646.43
H| LS 3,667 10,581 5,256 5,325 | 39,188.89
H| M7 S 6,801 17,980 9,446 8,534 6,562.04
He1s 4,383 12,533 6,366 6,167 | 33,872.97
Helos 3,449 9,943 5,000 4,943 | 43,230.43
He2|3s 6,436 18,405 9,442 8,963 | 28,315.38
Hel4s 7,831 21,999 11,014 10,985 | 30,984.51
He2|s5s 3,603 10,495 5,376 5,119 | 17,204.92
HZles 4,422 13,075 6,833 6,242 | 14,368.13
250|S 8,591 25,726 13,112 12,614 3,845.44
Y= 5,004 14,007 7,168 6,839 | 22,591.94
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